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Question Number : 1 Question Id : 8643511891 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Two identical antennas mounted on identical towers are separated from each other h}? a
distance of 45 km. What should nearijf be the minimum height of receivi_ng antenna to

receive the signals in line of sight ?
(Assume radius of earth is 6400 km)
Options :
8643515671, /0-1 m

8643515672, - 00 m

8643515673, 108-2 m

8643515674, 1077 m

Question Number : 1 Question Id : 8643511891 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(M epdHd 2 amTiTlHET 624 STy TR&era Glummesuul( 3 e Lol 6w el év
Qm ¢ss eanflad ¢is Caryrmsaiie ur@mssiul@ 45 km Qe Caafld
9M&5 emeusasliul_(Deterar. Umieney GHMige) 2 GT6T aNFSHEET 6J NS 6F &l6uTan
gH@GWw o ewmiluder Amiw o wimd : (yeiluder =yrb 6400 km eres)
Options :
8643515671, /2-1 M

8643515672, ~ 00 m

8643515673, 1252 m

8643515674, 10-77 m

Question Number : 2 Question Id : 8643511892 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The de-Broglie wavelength associated with an electron and a proton were calculated by
accelerating them through same potential of 100 V. What should nearly be the ratio of their
wavelengths ? (m,,=1.00727u m,=0.00055u)

Options :



8643515675, 43 : 1

8643515676, 1860 : 1

8643515677, 414 :1

i
8643515678. L B

Question Number : 2 Question Id : 8643511892 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
@(h eTad&Llrren LHMWD @ UCrriLmer 100 V blanan(psssdlar sailssalurs

wheNssLul (), SeubCorh Ggriyew w-19rréel e berhisar safldseaf Gu

sereflL L@ Engl. oeunbler siemabarmsaien efldsh
(m,=1.00727u m,=0.00055u)

Options :
8643515675, $3:1

8643515676, 1860 : 1

8643515677, 41411

(1860)2 : 1
8643515678,

Question Number : 3 Question Id : 8643511893 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The refractive index of a converging lens is 1.4. What will be the focal length of this lens if it

is placed in a medium of same refractive index ? Assume the radii of curvature of the faces
of lens are R, and R, respectively.
Options :

8643515679, Zer0

8643515680, 1



8643515681, Lnfinite

Ry R,

Ri -R,
8643515682,

Question Number : 3 Question Id : 8643511893 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
@M GalsEgn adaomauiar gafleflasa eram 1.4. @eaailaoma 2Cs5 ey
gaflaflsd eran GaTaL @@ 2aL s55d meaudssluubn Gurg afldeneuler
@etlwgTbd srews. efldvensoulilen Lurskisailen euenerey L TRISET WermGw Ry wHmiLb
R, eremd Clgmens.

Options :

nedl 1LILD
8643515679. SEE

1
8643515680.

(o el ébeorr
8643515681. Lics 53l

Ry Ry

R; — Ry
8643515682.

Question Number : 4 Question Id : 8643511894 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Red light differs from blue light as they have :
Options :

2643515683, Same frequencieﬁ and same wavelengths

8643515684, Different frequencies and different wavelengths

Same frequencies and different waveiengths
8643515685.



Different requencies and same wavelengths
8643515686.

Question Number : 4 Question Id : 8643511894 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Aziiy qafl B geflulladmbsg CeumuBeug, even GQubmder :
Options :
0643515683, @55 flfbeuamnser wHMD (&8 jena ﬁ.@ﬂréua;@h

Caumui’ L o rCleuamsar whmibd Caumui’ L ene BeTkisar
8643515684, 5 Po Y o |

2865 odrbleuamasdr wHm Ceumul L ene HeTriseT
8643515685, 0 4 oD o B

Caumul_L & rQleusim&eT wHmb &s ener Hem kST
8643515686. 2 3 S &

Question Number : 5 Question Id : 8643511895 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

=
The magnetic field in a region is given b}f B =B, (iwﬁ A square lonp of side d is placed

a s

with its edges alnng the ¥ and Iy axes. The lonp is moved with a constant velocit}f D =170, .;'- ;
The emf induced in the lcrr:rp ig
Y

A

Options :
B,v,d

8643515687, 2@



8643515688. a

8643515689, 24

8643515690.

Question Number : 5 Question Id : 8643511895 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

X

_:'.
@ uGHWEd 2 drer srhslL D B =B, (
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]E arand SruuLl_(harend. d-enwil

L&HLI&SE Cl&TanL @(h F&HiTeuge Samanuiler (penandeT x WHMIWD ¥y FsHEHaf en
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Y

F

Options :
B,v,d

o )

8643515687, 2@

B,7, d2
8643515688. a

B t!zd

Q-0

8643515689, 24



B, t:udz

8643515690, 22

Question Number : 6 Question Id : 8643511896 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Amplitude of a mass-spring system, which is executing simple harmonic motion decreases
with time. If mass=>500g, Decay constant=20 g/s then how much time is required for the
amplitude of the system to drop to half of its initial value ?

(In 2=0.693)

Options :

8643515691, 638

8643515692, 1001 s

8643515693, 034

8643515694, 1732 S

Question Number : 6 Question Id : 8643511896 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Fflens @Qusssms Cnbsrererd qm Hlenm-amer, Siewliben aiFad sradensl
CQurmnsg) @andng. oicuicuamwliler aiFs oiger QHTLGE jeralld LUrdurs @eomw
Coemeuliu(ib sred (Hlem =500 g, Hengey wmmledl =20 g/s, In 2=0.693)

Options :

8643515691, 1698

8643515692, 1001 s

8643515693, 034

8643515694, 172 S



Question Number : 7 Question Id : 8643511897 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Calculate the value of mean free path (A) for oxygen molecules at temperature 27°C and
pressure 1.01 x10° Pa. Assume the molecular diameter 0.3 nm and the gas is ideal.
(k=138 x10~3 JK~1)

Options :

v
8643515695, 22 NM

58 nm
8643515696.

8643515697, S0 M

102 nm
8643515698.

Question Number : 7 Question Id : 8643511897 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

27°C Gleutiubleneufiey i 1.01 X 10° Pa 2y (p&s5$lapid 2 arem 2y&8lgan epand &nmisafler
grrafl CorselenLd gMrb (A) srans. (epaossansaile el 1b 0.3 nm erame]bd
Bebedl i) QUL ETETEYLD &H(HSIS).

(k=138x10~2 JK~1)

Options :

v
8643515695, 22 NM

58 nm
8643515696.

8643515697, S0 M

102 nm
8643515698.

Question Number : 8 Question Id : 8643511898 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



What will be the nature of flow of water from a circular tap, when its flow rate increased
from 0.18 L/min to 0.48 L/ min ? The radius of the tap and viscosity of water are 0.5 cm and
1072 Pa s, respectively.

(Density of water : 10° kg /m?)
Options :
8643515699, Steady flow to unsteady flow

8643515700, Unsteady to steady flow

8643515701, Remains steady flow

Remains turbulent flow
8643515702.

Question Number : 8 Question Id : 8643511898 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@@ el L @pruiilde Cewaub Bfléar @l eisb 0.18 L/min. -elmbg 048 L/min.
o8 oidsflsgorarmd, B @l e sarenw wrg ? Gprublen <opribd whmb Hiflen
urdlwe erar wenmCGu 05 cm whHmd 1073 Pas. (Bflen oLiddl : 10° kg/m?).

Options :
s613515690. CITen @LLASdlmHe Frpp UL
s643515700. TTOD @ULBHS ®bg Eyran @b

s6a3s1570,. ST @ULESD Blenaws Sl

50565 L L Sblar Blenawddl(m&E LD
8643515702. LS foas

Question Number : 9 Question Id : 8643511899 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

— =
A charge Q is moving dl distance in the magnetic field B. Find the value of work done by

—

B.



Options :
8643515703, 1

8643515704, 10

8643515705, [nfinite

—¥
8643515706.

Question Number : 9 Question Id : 8643511899 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
@ Wlearayr L b Q srigslyed B - dl gy pardmng. blearar L &g Ser

=3
B -e Gelwiu’L Ceuane :

Options :

8643515703.
Sl
8643515704.
(wigaiersg

8643515705.

8643515706.

Question Number : 10 Question Id : 8643511900 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Calculate the time interval between 33% decay and 67% decay if half-life of a substance is
20 minutes.

Options :

20 minutes
8643515707.

40 minutes
8643515708.



p0 minutes
8643515709.

8643515710, 1 minutes

Question Number : 10 Question Id : 8643511900 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

g Cummailer ey gl srewm 20 Bl kiser erafla UGummer 33% WwHMmIW
67% flengeym G0 &re @enL Glauef :
Options :

8643515707, 20 BlOIL_migei

40 ol Lkl ser

=)

8643515708.

60 ﬁ LSIL_rBl ST
8643515709.

13 ﬂ LS| LRl ST
8643515710.

Question Number : 11 Question Id : 8643511901 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

For the given circuit, comment on the type of transformer used.

i i _ 011A

e
=

]| E-,U WY,
D

220V @ JL
Options :
8643515711, Step - up transformer
8643515712. Step down transformer

Auto transformer
8643515713.



Auxilliarvy transformer
8643515714. 3

Question Number : 11 Question Id : 8643511901 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

LerhEsuul_ L Werammled, UweamTuU(RSSLILL(Hel arormmluiler suend UMD
Car(Hés L) 61 & ) pl 6 CrY: (emer e il n& LMl

& (&S| 61 .
EII-] I-[_h 0.11A
||s) O e
220V @ 2 £

Options :

ermml Wl ermwnmmml
8643515711, 2 0P 2

8643515712 Qpée Hemorp

8643515713, srafwumdl Werwrmhml

Flenent LOlermom bl
8643515714,

Question Number : 12 Question Id : 8643511902 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The half-life of Au!™ is 2.7 days. The activity of 1.50 mg of Au!?® if its atomic weight is
198 g mol ! is, (N, =6 x10%/mol).

Options :

8643515715, 220 Ci

357 Ci
8643515716, 0>/ 1

8643515717, 292 Ci



8643515718, 230 Ci

Question Number : 12 Question Id : 8643511902 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Au'® -am enr LWL sTOWm 2.7 BIL&GET. g6 aml erenl 198 g mol~! erafle
1.50 mg Au'® -éir eflenandlmer

(N, =6 x10%/mol)
Options :
8643515715, 220 Ci

357 Ci
8643515716, -2

8643515717, 222 Ci

8643515718, 200 ¢l

Question Number : 13 Question Id : 8643511903 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A bimetallic strip consists of metals A and B. It is mounted rigidly as shown. The metal A
has higher coefficient of expansion compared to that of metal B. When the bimetallic strip is

placed in a cold bath, it will :

Options :

2643515719, bend towards the right

Bend towards the left
8643515720.

8643515721, 1Yot bend but shrink



R64351572. Neither bend nor shrink

Question Number : 13 Question Id : 8643511903 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
am FmGams Llen A oMb B 2 Carsmisener ClETaim(heers). eneu euedl enoulms
uLSdler 2 aremeurm Wurmssiiul (Hererg. 2 Carsh B -2 Lear ellbhn Gurg
2 Carsid A -an eflfleurds Gewasbd flsn. FHGars uleL @Gafliey Soaild

emeudsILpD Gurg i :

Options :

EUELILIGEHLDTS ELUENETLLD
8643515719.

@ LUGSDOIE aUEneTL LD
8643515720.

GUEMEITILITG| <}, EUTTE) &(THIEI(&LD
8643515721. )

CUENETELHILD (@) 60ened H(THE(&FEU&ILD @) evenad
8643515722, o &) GEGGL 8

Question Number : 14 Question Id : 8643511904 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A large block of wood of mass M=5.99 kg is hanging from two long massless cords. A bullet
of mass m=10 g is fired into the block and gets embedded in it. The (block + bullet) then
swing upwards, their centre of mass rising a vertical distance h=9.8 cm before the
(block + bullet) pendulum comes momentarily to rest at the end of its arc. The speed of the
bullet just before collision is :

(take g=9.8 ms 2
LLLLA LS

i M
—
v

Options :

8643515723, D114 m/s

8643515724, 5214 m/s

8643515725, 5014 m/s

8643515726, 114 m/s

Question Number : 14 Question Id : 8643511904 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



M=5.99 kg flenp Glarewm @ Guflu wrésier @m Bearl Blepwbm H e
sWlhmlerra Csrmue eflluiul (Hetarg. m=10 g Hlenm Garaw qm sILursSl @ (b
wréslaLamw Crréd sLluu@n Gurgy g dareaurs guae] Hlaawenw
2L Eng. slenl wHmD HoursdGeanh eamwiy CuoaChradl saswrhdng.
slaL O Suursd Ganh Cerbs enwly afldeler (panamudld samGhr guiey
Blenewen anLuyb Gurg iger Blenm enwwib CFmGEHsS Hsraaea h=9.8 cm
2 wirdlmg). erafley CorsasE e HLLTGSS @amiger Geusb :

(take g=9.8 ms 2
WY R

- M
—
'I_:I

Options :

8643515723, D114 m/s

8643515724, 5214 m/s

8643515725, 5014 m/s

8643515726, Crl-4 m/s

Question Number : 15 Question Id : 8643511905 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Statement 1 : A cyclist is moving on an unbanked road with a speed of 7 kmh I and
takes a sharp circular turn along a path of radius of 2m without reducing
the speed. The static friction coefficient is 0.2. The cyclist will not slip and
pass the curve. (g=9.8 m/s?)

Statement Il : If the road is banked at an angle of 45° cyclist can cross the curve of 2m
radius with the speed of 18.5 kmh ~! without slipping.

In the light of the above statements, choose the correct answer from the options given below.
Options :

643515727, Both statement I and statement Il are true

8643515728, Both statement 1 and statement 11 are false

8643515729 Statement 1 is correct and statement 11 is incorrect

2643515730 Statement 1 is incorrect and statement 1l is correct

Question Number : 15 Question Id : 8643511905 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gapml I: smieumm srenauie 7 kmh~! Cauassdla WSleuamrguie GClFaueur gm
Falfeon eul L euanenafiled 2 m y,mib GsrawL. el Lurenguiler Coussans
@Genm&smoe Fmbudnrr. Bleaaule o rmie Garenrd 0.2. Wl euamrigulle
QFéuieui afprined cuenatenel sLSHmm. (g=9.8 m/s%)

gamnm) 11 : 45° gmieurs 2 erer sreneaulled, 2 m <y, 7ibd Clsrem euaneraneu Ll euamrig udle
QFéueui 18.5 kmh ™! Ceusgdlér eflpmoed sL&Emri.

Cuhamhlu amhnsameard &maHa daran(, SpssanrL Csieyflenwaaila &flwme

eflen_enw G& b6l (6.

Options :
bml - 1 wiHmib Spmi - I @rer@ &l
8643515727, oDl - 1 DDHILD S=DD) @rerHib &
Fadm - 1 OmD Sapmy - I @rar@Hon seu
8643515728, P 2L Do Qe (Hid Heum)

Famm| - 1 #f bHmbd saomy - 11 $eu
8643515720, PO DO oml - I eum



Fammy - I Seum wHMWL Sammy - I
8643515730. pol el el pol

Question Number : 16 Question Id : 8643511906 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
— M M M
A mosquito is moving with a velocity v =05t*i + 3tj + 9k m/s and accelerating in

uniform conditions. What will be the direction of mosquito after 2 s ?

Options :

ta_n_I(
%,

k3|

W from x-axis
8643515731. g

-1 (5) .
tan = | from y-axis
8643515732. \2)

tan If
LY

03| I

W from x-axis
/

8643515733.

tan ! {E from y-axis

8643515734.

Question Number : 16 Question Id : 8643511906 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
— M Fat M
v =05t%i + 3tj + 9k ms! HlenasCeusdHlev QFcvepid Qe epeiy Frmren FlLbsaeanseila
whésGetlssuubhdng. 2 elarrgsEl MmnE Carseiler Hang.
Options :

x -1 &8l abl(m b tan I{%}
J

b}

8643515731.

y-éqé#]@ﬂ@{ﬁ_@tm 1[%}
o=

8643515732.



' 2
x -2 F&ledl(mHg) tan I(E]
8643515733, ’

' 2
y ~21E8lel (g tan I(;]
8643515734, ‘

Question Number : 17 Question Id : 8643511907 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In order to determine the Young's Modulus of a wire of radius 0.2 cm (measured using a
scale of least count=0.001 ¢m) and length Im (measured using a scale of least
count=1 mm), a weight of mass 1 kg (measured using a scale of least count=1 g) was
hanged to get the elongation of 0.5 cm (measured using a scale of least count 0.001 cm).
What will be the fractional error in the value of Young's Modulus determined by this

experiment ?
Options :

o
8643515735. Tk

o
8643515736. it

o
8643515737. btk

8}
8643515738. i

Question Number : 17 Question Id : 8643511907 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@m sLY"%ea wh  @Gewsbd Sramd  Gummlih 0.2 cm TP
(S&flhmerey =0.001 cm werLw ereyGareneud Garan( seredlLu(&ns)
1 m fergpd (BSFAdmerey =1 mm o oLw aeyCsraawsd 6&ramr
jereflLuBEng, 1kg Blevpuyd (B&fdmerey =1 g Qarenr ojerefenwd ©ls e ()
sjerellLLiu(Gdlng) Qerar, &b 0.5 cm (B&fpmerey 0.001 cm 2 enLw
2 amayCarenead (ol & rremr (h) g erallLiuhidlmg ) B4 <jenL&lmag.
@ #Cargenanuiladlmbs seTell LuBIb Wk @anssblar FAbmerey Genp



Options :
s
8643515735. LE

5
8643515736. 0.3

e
8643515737. 3n

=
8643515738, °

Question Number : 18 Question Id : 8643511908 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A resistor develops 500 | of thermal energy in 20 s when a current of 1.5A is passed through
it. If the current is increased from 1.5 A to 3 A, what will be the energy developed in 20 s.
Options :

8643515739. e

8643515740. e

8643515741. 1500 ]

8643515742. 2000 ]

Question Number : 18 Question Id : 8643511908 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
g Weangen L wiler euflGw 1.5 A BlenGenrL1b GaeraybGurg 20 eflarmig Sarfl 6
sgafler 500 J Qeuin gymma Cgreamméng. BlearGarrii b 1.5 A -&l(mbg 3A
aiflaf&@n Curg, 20 eflamriysafler Careammib <HmeD

Options :

8643515739. 20

8643515740. ke

8643515741. 1500 ]



3
8643515742. 2000 J

Question Number : 19 Question Id : 8643511909 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Find out the surface charge density at the intersection of point x=3 m plane and x-axis, in
the region of uniform line charge of 8 nC/m lying along the z-axis in free space.
Options :
47.88 C/m
8643515743, 00 </

7 2
8643515744, 0.07 nC m

2
8643515745, 0424 nC m

2
8643515746, 10 nCm

Question Number : 19 Question Id : 8643511909 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
QeupilL e, z-iFflan Feansuler Lreyd 8 nC/m Fyran CrICaT (B LlamenTL L 1D,
x=3 m Glgrenavalled gnu(sHnd uriy werumy oL isdl :
Options :
47.88 C/m
8643515743, 50 C/

Fi 2
8643515744, 0-07 nC m

2
8643515745, U424 nC m

40 nC m~2
8643515746.

Question Number : 20 Question Id : 8643511910 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The fnllnwmg L:}gic gate is equivalc-nt to :

D

|
b—1 | p—

Options :

8643515747, NND Gate

NAND Gate
8643515748.

8643515749, OR Gate

NOER Gate
8643515750.

Question Number : 20 Question Id : 8643511910 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

SpEsaTL HiTEs cumrulad@ Fwwrar euruie :

DD—
DD
:)0_

A

B———

Options :

AND aumulley
8643515747.

NAND curuile
8643515748.

OR surulle
8643515749.

NOR curullen
8643515750.
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Question Number : 21 Question Id : 8643511911 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If one wants to remove all the mass of the earth to infinity in order to break it up completely.

The amount of energy that needs to be supplied will be —

(Round off to the Nearest Integer)

' e 7
x GM~ :
where r is

.

(M is the mass of earth, R is the radius of earth, G is the gravitational constant)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 21 Question Id : 8643511911 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



Yellenw appeugiors Meraym Glawwybd Curmli(h saila o darer 2 marsds)

S
Benns@Ephd wpuealar dgrawalhe Bés CaameuliLBib NN iaray = %
.

@ragx . (Cerrmuwnrs)
(M -yefllen Blenm, R -yellufer <y, G -mrirSwed wmmledl)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643511912 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A swimmer can swim with velocity of 12 km/h in still water. Water flowing in a river has

velocity 6 km/h. The direction with respect to the direction of flow of river water he should

swim in order to reach the point on the other bank just opposite to his starting point is
°. (Round off to the Nearest Integer)

(Find the angle in degrees)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643511912 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

6 km/h flansCeussdledr Gadaud < nidlew gm Bhgueaurred Bfler @lLsamsl
@Qurmigg 12km/h HansCeussdla BhdlF dade (igub. Asrssl Lerallse Crirmer
ardlir senreni el w Bflan @lL s Hengenwis Gurmsg Bhgiuer BhdHé Clede
Ceuairiqus Hlang °. (Caumymwwnrs) (Caransans 1gdlfl bl sreams)

Response Type : Numeric
Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 23 Question Id : 8643511913 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A body of mass 2 kg moves under a force of (2 i +37j 4 5!&,:' N. It starts from rest and was at

the origin initially. After 4 s, its new coordinates are (8, b, 20). The value of b is

(Round off to the Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 8643511913 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Fat

2 kg Hlenm Claram e@m Gummear 2; F3j Sk?N elilensuieammer uieile @) mbs

Qgr_&s&s BHlaaulelmbg wardmg. 4 eflamgsErsEu UnEG san oieTe&ar
(8. b, 20) erafléd b-enm &Ly . (Garrrwwors)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 8643511914 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



r

Aforce F =4i + 3 ;r b4k is applied on an intersection point of x =2 plane and x-axis. The

magnitude of torque of this force about a point (2, 3, 4) is . (Round off to the

Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 8643511914 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

— A A A

ealleng F =4i +3j +4k, x=2 et wHMD x-A&Ffer Em&ELHU yeraflula
saflEsliubEng. yearefl (2,3, 4) -; Qurmss aflensulen Slmiy eSlengullan erem
&Ly . (Camrruwrs)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643511915 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



A solid disc of radius ‘a’ and mass ‘m” rolls down without s]_ippi_ng on an inclined pla_ne

[T
making an angle 6 with the horizontal. The acceleration of the disc will be b8 sinf where

b is . (Round off to the Nearest Integer)
(g=acceleration due to gravity

B=angle as shown in figure)

s

6

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643511915 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

‘m’ Blenmu|b ‘a” 2y rpd Clarear g Sl s (0 e sgarsg L B Carentd srileurs

o arer &l sendSle eups@Esed @end EpCrréd o mEendng. slger WPHESLD
%gsiﬂl} erafled b-am &Iy . (Gamyrwuwrs)

(g -yellriiy wphH&sb, 8 -uL sl sriigujerer GaremTbd)

iP

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 8643511916 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

For an ideal heat engine, the temperature of the source is 127°C. In order to have 60%

efficiency the temperature of the sink should be __°C. (Round off to the Nearest

Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 8643511916 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

e Ceulu erpdlrsdler Gleuliu ppasdleanr deuliublene 127°C. =ibs eThSTnD 60%
@us@dnameans Gun Geuliu gnlbuller Gleuliublana __°C. (Garymuwrs)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643511917 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



In a parallel plate capacitor set up, the plate area of capacitor is 2 m-2 and the plates are
separated by 1 m. If the space between the plates are filled with a dielectric material of
thickness 0.5 m and area 2 m? (see fig) the capacitance of the set-up will be e
(Dielectric constant of the material =3.2) (Round off to the Nearest Integer)

d

Y

&“‘

R

d

2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643511917 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



@m @aanss_(hH BlaCssd eawinbe, slger urlueare; 2 m? LHMLD
sashsErsda _Cuwrar @ Gaiall 1 m. 0.5 m gigwer Gerewr WlersmiiL
Qummermed $&hs@nddlaGuwrar @ ean Gleuafl Hlyuulubhdnbseamrea erafle @b
BlenCaasl sanwiben WlanGCesE $mer e, (Garpmwiwors) (GQummet e
Wlamamiiy wrhledl =3.2)

d

e
.l

Qlk

S

d

2
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 28 Question Id : 8643511918 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The energy dissipated by a resistor is 10 mJ in 1 s when an electric current of 2 mA flows
through it. The resistance is (). (Round off to the Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



Question Number : 28 Question Id : 8643511918 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2 mA WeanGenmrL1b e WersenL euflGw Gaaeyd Curg 1 eflarmguie =igeile
<,mme Bellger 10 m]. WlangeanL ullan sl Q. (Cerrmuwnrs)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643511919 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A deviation of 2° is produced in the yellow ray when prism of crown and flint glass are
achromatically combined. Taking dispersive powers of crown and flint glass as 0.02 and
0.03 respectively and refractive index for yellow light for these glasses are 1.5 and 1.6
respectively. The refracting angles for crown glass prism will be ? (in degree).
(Round off to the Nearest Integer)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643511919 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

B0 M pellder Carwrear sl o erar &emment Mg &emre a1 £lreer womb Gafler

& GHTEMTITlg SETTED @1 (WL L SEISET WEhaer Hnddla 2 clasma ghuB&sHns:.

flreyar womd Geflaw sawenrmg wpln L smgsatlear Gfdnaser wamGu 0.02

wHmib 0.03. Gueyd wepsar Blm gafluilean qpafleflesa eramaer ()& saTanT Ty.&(@hk &

wenCGw 1.5 womb 1.6 ecrafler Hreayenr samenrmiguier qafl allawsd Casrewrd
. (Garymuwnrs)

Response Type : Numeric
Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 30 Question Id : 8643511920 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A closed organ pipe of length L and an open organ pipe contain gases of densities p; and p,
respectively. The compressibility of gases are equal in both the pipes. Both the pipes are

X P1
vibrating in their first overtone with same frequency. The length of the open pipe is L E

where x is . (Round off to the Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 8643511920 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

L Bemperer e epigi &6 @oml wHmib @ Snhs oy isar @orisaid o drer
eur&saflen Lisdlaer wennGw py LOHMID p,. euryssailen @m@ SHmen Gleuallm
@Gurisafleyd Fowrs o arargl. Cweyd @euatl(| GLIUSERD &85 HiT6leu e

Clare_ waa Cunarsdlda oidiaanL &mg. Coaub fSlnbs o isear @pruier Herb

s ) L« QT WA WO .
3\, crefle @iki@E x -am ALY .

(imdle 2 cmer (W eTaTamid@ CHTTMULTS)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



Chemistry Section A

Section Id : 864351129
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351129
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 8643511921 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The INCORRECT statement regarding the structure of Cg is :
Options :

3643515761, 1t contains 12 six-membered rings and 24 five-membered rings.

The six-membered rings are fused to both six and five-membered rings.
8643515762.

2643515763, e five-membered rings are fused only to six-membered rings.

2643515764 Each carbon atom forms three sigma bonds.

Question Number : 31 Question Id : 8643511921 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Cep -6 Sjenwlenul ubhhlu Seunres Fabhmn :

Options :
8643515761.
95 12 onmCGsren eaamenuipd 24 mrGsrent suamarwipld Gl bmeTeTen.

8643515762.
SIMEGCsTemT cuanaTUm&Ger HmikGCsment WOmID kil mem f.:um:-m'u_lé._la:;@:bl_e't.l

Y& emrds & L1 (R e e .



EICHTET CUENETIRISET HmmGCETenT cUenaTwRs@nLem Ll (HGLw
196 amrés & L1 () eTarmen.
8643515763.

GpeuGleum , &MueT ameybd eperm H&Ewom ClenewTliuime merg.

8643515764.

Question Number : 32 Question Id : 8643511922 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The INCORRECT statements below regarding colloidal solutions is :

Options :
3643515765, » colloidal solution shows colligative properties.

A colloidal solution shows Brownian motion of colloidal pa_rtides.

8643515766.

The flocculating power of AI’* is more than that of Na™*,
8643515767.

An ordinary filter paper can stop the flow of colloidal particles.
8643515768. 3

Question Number : 32 Question Id : 8643511922 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

F DD SenFsemaT LUDHW SHeumnes &(mis

Options :

Fp&samTFOsa Ggrenssn] uarysenear GeualLuRE&sudng).
8643515765. > ‘ e ‘ g DS D I
FlDLD& ST FLGET Snlpnsssarsatlean Darerafluen @usssams
QevefliLhiss &ma).

8643515766. WSS

s6a3515767 BEIBE Gsdaud pppd Nat-efl AP* odlsib.

FDIDSHETHENET (I FISTTMT culgSaT Shdg BmSHID.
8643515768.



Question Number : 33 Question Id : 8643511923 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The characteristics of elements X, Y and Z with atomic numbers, respectively, 33, 53 and 83
are :

Options :

8643515769. X, Y and Z are metals.

X and Z are non-metals and Y is a metalloid.
8643515770.

643515771 X is a metalloid, Y is a non-metal and Z is a metal.

X and Y are metalloids and Z is a metal.
8643515772.

Question Number : 33 Question Id : 8643511923 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
oian) erewr 33,53 wHmb 83 Camawr X, Y whmbd Z wenpGw

Options :

X, Y bmmib Z 2 GenN&mnISaT.
8643515769. E

X ohmw Z -CGansrasar, Y -2 GeorslGumedl.
8643515770, = = &

X ep(m s GeomaslGumedl, Y e Genshd, Z e 2 Gansib.
8643515771.

X whmn Y 2 dlwenal 2 GarsliGumedl, Z ¢ 2 Gasmib.
8643515772. Jt & s

Question Number : 34 Question Id : 8643511924 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following reduction reaction CANNOT be carried out with coke ?
Options :

Fe?_{:'.'3 — Fe
8643515773. :



8643515774, £nO — Zn

8643515775, —2O — Cu

ALO, — Al
8643515776,

Question Number : 34 Question Id : 8643511924 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Spasar_aupdle eThs @hés alamer &f Qatan(d phds Gueong ?
Options :

Fe, O, — F
8643515773, 273 1 °

N0 —= In
8643515774.

Cu, 0O — Cu
8643515775. z

ALO, — Al
8643515776. > -

Question Number : 35 Question Id : 8643511925 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The correct statements about H,O, are :

(A) wused in the treatment of effluents.

(B) used as both oxidising and reducing agents.

(C) the two hydroxyl groups lie in the same plane.

(D) miscible with water.

Choose the correct answer from the options given below :
Options :
3643515777, (A4) (B) and (D) only

3643515778, (B} (€) and (D) only



8643515779, A (C) and (D) only

3643515730, TR AT i) euc )

Question Number : 35 Question Id : 8643511925 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
H,O, -upihlw #flwres spmn

(A) sWlleybeny &55Wwn&Es
(B) ysellmGanhm woHmb @hé@n sraflurs vweruhdng.

(C) @ran(® manlgrseller Csr@daern @Gy sargdla sienibg)cTerer.

o
(D) semefGrn( &w&E5E Sl g
SpssamLauphle sflwrenr eflenLanwg CsinEs0H.
Options :
A), (B) wmmiw (D) wi(Hw
sea3515777, 7 (B) 0pDI0 (D) 016

864351577, @ (O LODL (D) LLED

8643515779, V) (€) LDDIO (D) oGO

8643515780, M) (B) (O oo ()

Question Number : 36 Question Id : 8643511926 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ider‘ltff}’ the elements X and Y using the ionisation energy values given below :

lonization energy (kJ/mol)

15t 2I'IL|
X 495 4563
Y 731 1450
Options :
X=Na; Y=Mg

8643515781.



X=Mg ;Y=Na
8643515782.

8643515783, <1 Y=Mg

8643515784, v~ Mg ; Y=F

Question Number : 36 Question Id : 8643511926 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Sjweflurge @hmenel Lwearuhss X womb Y -ewé serrl.
Slweflwrged gmmev (kJ/mol)
(LPSHED (@) metT LD
X 495 4563
Y 731 1450
Options :
X erastigy Na womiib Y eresrig M
8643515781. S = b

X eramrug Me ommib Y eresrud Na
8643515782. = s - S

X ereotus] F inmmin Y erestug M
8643515783. S P R

s643515784. X eomLgl Mg opmid Y eremuigy F

Question Number : 37 Question Id : 8643511927 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The exact volumes of 1 M NaOH solution required to neutralise 50 mL of 1 M H,PO, solution
and 100 mL of 2 M HEPD?_ solution, respectively, are :
Options :

8643515785, U mL and 50 mL

100 mL and 50 mL
8643515786.



2643515787 100 mL and 200 mL

2643515788, 10U mL and 100 mL

Question Number : 37 Question Id : 8643511927 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
50 10 .60l /Gomey HyPO; sengad wnmib 100 .6l 2 Gomé HyPO, sengad <dlweumhenm
Bhblamawnsss Coaneuwner 1 G NaOH -6 sflwner sear siare|sar (wpannGul :

Options :

8643515785. 50 18.6dl LoHmid 50 L6l

8643515786. 100 WBl.6dl wmmd 50 L8.&bl

8643515787, 100 15l.6bl Hmith 200 LA &bl

100 8.68l wHmibd 100 Ll &bl
8643515788.

Question Number : 38 Question Id : 8643511928 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Arrange the following metal complex/compounds in the increasing order of spin only
magnetic moment. Presume all the three, high spin system.

(Atomic numbers Ce=58, Gd=64 and Eu=63.)
(a) (NH,),[Ce(NO,),] (b) Gd(NO,), and (c) Eu(NO,),
Answer is:

Options :

8643515789, (@) < (0) < (€)

s643515790, @ <9 <(®)

8643515791, ) <@ <(9)

8643515792, () < @< (®)



Question Number : 38 Question Id : 8643511928 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Spasani epem 2 Wi sHél Senaneyd Gl /Garoriseanar, eunbler &phé L (HLb
gyenToner &Mhs SHmLUusSnenr ojgluemiula auflosliubsg.
(e erawrser : Ce=58, Gd=64 wnmid Eu=463.)
(@) (NHy),[Ce(NO;)g] (b) Gd(NO3)3 wHMILD (c)  Eu(NOj),

Options :

3643515789, ) < @) <

8643515790, (@ < (€) < (b)

8643515791, (P) < (@) < (c)

8643515792, () < @ < (®)

Question Number : 39 Question Id : 8643511929 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Fex?_ and Fey3 are known when x and y are :

Options :
x=F, Cl, Br, I and y=F, Cl, Br, 1

8643515793.
8643515794, X=F- Cl Br, Land y=F, (1, Br
8643515795, Y= I, Cl, Brand y=F, Cl, Br, 1
8643515796, X~ L Br, landy=F, Cl, Br, 1

Question Number : 39 Question Id : 8643511929 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Fex, wmmw Fe o flweney seTLdlwOuL_(ReTerer, @M@ x WHM LW o &l Wi Gor
2 e 3 \J =) ~c

(wenpw :

Options :

2643515793, ¥~ I» €L Br. Twmmio y=F, C, Br, 1
x=F, Cl, Br, T wpmid y=F, Cl, Br

8643515794, |

8643515795, F, C1, Br npmiw y=F, Cl, Br, 1
x=Cl, Br, I mmmbd y=F, Cl, Br, I

8643515796.

Question Number : 40 Question Id : 8643511930 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The green house gas/es is (are ) :

(A) Carbon dioxide

(B) Oxygen

(C) Water vapour

(D) Methane

Choose the most appropriate answer from the options given below :
Options :
8643515797. T

8643515798, (4) and (C) only

8643515799, () () and (D) only

K} and il
8643515800, () and (B) only

Question Number : 40 Question Id : 8643511930 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



LiFenLD Gi(h GUMLEEHET DpEeE

(A) smyuen enl y&Henev(h

(B) <p&aendlse

(© B e

(D) wW&GEsen

SpssaniL sreysafler @mba WDe& sfluner aleLmws Csindsd.
Options :

8643515707, (A) -0

A) bmmw (C) WL_(AW
8643515798.( } P ( } O

8643515799. (A), (©) wpmid (D) wL(Hib

8643515800, (A) LDDID (B) oL (i

Question Number : 41 Question Id : 8643511931 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List-1 with List-I1 :
List-1 List-11
Test/Reagents/Observation(s) Species detected
(a) Lassaigne's Test (i) Carbon
(b) Cu(ll) oxide (if) Sulphur
( (iii) N, S, P, and halogen
( (iv) Halogen Specifically

c) Silver nitrate

d) The sodium fusion extract gives
black precipitate with acetic acid

and lead acetate
The correct match is :

Options :
3643515801, @)r-(1), (b)-(ii), (c)-(iv), (d)-(iii)

8643515802, (@)-(11), (b)-(i), (c)-(iv), (d)-(ii)



8643515803, (@)-(11), (b)-(1), (¢)-(i), (d)-(iv)

2643515804, (@) (1), (b)-(iv), (c)-(ii), (d)-(ii)

Question Number : 41 Question Id : 8643511931 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
euflens - 1 -2 L e euflems - 1l - Cunmsss

suflema - 1 suflema - 11
Cang emnen | & iyemtl | & memsrLen seusTL_nSlwd & myeust]
(a) eonélsenev CFnsene (i) asmyuen
(b) Cu(ll) =y sanen(h (i) &Fevo.LuT]
() Heveuiy enpl Gyl (ii) N,S, Pummib ammegyen
(d) Gomguwib o (R&E& FTml, (iv) drsCGuswons anmene(h

DH s oblend HmD
e HHLGL L (HLem s&muy
eipluugeneud Gam(bHadng

gflwnesr Clummssn
Options :

8643515801, @D, B)-(i), (O)-(iv), (d)-(iii)
8643515800, (@) (H1), (b)-(1), (¢)-(iv), (d)-(ii)
(a)-(iii), (b)-(i), (c)-(i1), (d)-(iv)

8643515803.

2643515804, @), (0)-(iv), (c)-(idi), (d)-(ii)

Question Number : 42 Question Id : 8643511932 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Statement 1 :  Sodium hydride can be used as an oxidising agent.
Statement 11 :  The lone pair of electrons on nitrogen in pyridine makes it basic.
Choose the CORRECT answer from the options given below :

Options :

8643515805. Both statement 1 and statement Il are true

2643515806, Both statement 1 and statement 11 are false

Statement 1 is true but statement 11 is false
8643515807.

Statement 1 is false but statement 11 is true
8643515808.

Question Number : 42 Question Id : 8643511932 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gamm) - 1 : Cemguwid eanlengl @@ yseadllomGearpm sreawflursd
LIwedrU (bl & e miD.

gamm) - 11 : 9 flig el enpLpenerr Goe 2 drar saflss Gy eTadELFTerm 5% amer
& 1] & 6T 60 LD T & (5 E m &)

Gy Gasmhsstul’ Herareupbledlmbs Fflwren alenLeanwsd CaibElsH.

Options :

gamml - Iwpmib smmy - I @rear(hin &)

8643515805.
Famml - 1hmb Sgmom - 0 @reamRin seun
8643515806. i = ol @7 e
Famm| - 1 #f =pamd gamnm - 1 $eum
8643515807. POl ) < ol e

8643515808, DI - 1 seun pemed Sapmy - I &

Question Number : 43 Question Id : 8643511933 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



An unsaturated hydrocarbon X on ozonolysis gives A. Compound A when warmed with
ammonical silver nitrate forms a bright silver mirror along the sides of the test tube. The
unsaturated hydrocarbon X is :

Options :

CH;— C=C-CH;4
8643515809.

CII3—f|: = f|:—CI13
8643515810. CHy Cls

HC=C—CH,—CH;,4
8643515811. :

CHsy

|
CH;—C=<
8643515812.

Question Number : 43 Question Id : 8643511933 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
@ Bleopayprg epapl Goranjuenr X @Gsraylen A -eneud Can(hsSng. A erenm
Cefob bGurailur saps Haea] bl Cri(hrer HAoa] pgeaw Cargenerd
Gumler o arynbd 2 (heaunsGdng. oG Blananrs manl Grramjuer X
GramrLigy)
Options :

CH;—C=C-CH,4

8643515809.
CH; CH;
8643515810. : .
HC=C—CH,—CH;
8643515811.

CHy

|
CI—I3—C=<
8643515812.



Question Number : 44 Question Id : 8643511934 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

W N

ol i

Identify the reagent(s) ‘A’ and condition(s) for the reaction

Options :

8643515813, T R asING UGS LU

A=HC(Cl, Zn(l,
8643515814. =

~) UV L
8643515815, >~ Chs UV light

8643515816, A=HC; Anhydrous AICI,

Question Number : 44 Question Id : 8643511934 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

-

clilenemullenr spenflaet A wHmb Qummsswrear Ceudlulwea @Gnblanawsamer sarTL .

Options :
A=CL; @m M, Brom AICI
8643515813, 2763 O ST 3
A=HCl: Zn(l,
8643515814. =

A=Cl,; UV gl
8643515815, A



8643515816.

Question Number : 45 Question Id : 8643511935 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

s _ COOH
| il
OCH, OCH,

In the above reaction, the reagent “A”" is :
Options :
LiAlH
8643515817, o 4

: . i
8643515818 Alkaline K_r'»-II‘lO4, H

8643515819, HCL Zn—Hg

b
8643515820, NaBHy, H;0

Question Number : 45 Question Id : 8643511935 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
CH; COOH

OCH; OCH,

CunsarL eflenerudler “A” -efled 2 erer CrO; eremig) :
Options :
LiAIH,
8643515817.

Alkaline KMnO,, H*
8643515818.



8643515819, HCL Zn—Hg

NaBH,, H,0*
8643515820. :

Question Number : 46 Question Id : 8643511936 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

CN

P (i) CHHSNIgBr Ether
| (1.0 equivalent), dry 5
ﬁ:‘**::,f"f (i) H;O* Major Product

OCH;4
The structure of X is :

Options :

T‘)
R..____..._.--““E.REK
8643515821. OCH;
o S
OCHj,4
8643515822.
..."H-\. .___.-'
= T‘* NH,
CgHs

8643515823.



8643515824.

Question Number : 46 Question Id : 8643511936 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

N OCHMgBr 2w
|T (1.0 slomenn)  FHEST ”
~ \— (i) Hy0% 2w ellenar Glummer
OCH,4

X -6 <ZjenLoLIL] :

Options :

(H)
C i,
OCH,
8643515821. :
H“H,__ ) :
8643515822. OCH,
o T

8643515823.



O
!

--__ ___.-"" "'*--._‘_ Cﬁ H5

Question Number : 47 Question Id : 8643511937 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

8643515824.

Which of the following is least basic ?
Options :

(CH;CO),NH
8643515825. i s

8643515826, (C2H5)2NH

(CH.CO) NHC-H
8643515827, |~ 340 2075

(CoH LN
8643515828, "2 5%

Question Number : 47 Question Id : 8643511937 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Epssamcunbled eTg Gamnbs sTrsseanenn Claram g ?
Options :

8643515825, (CHaCORNH

C»Hc),NH
8643515826, 211502

(CH;CO) NHC,H;
8643515827.

CHALR
8643515828, \ 2 153



Question Number : 48 Question Id : 8643511938 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Ammonolysis of Alkyl halides followed by the treatment with NaOH solution can be used to
prepare primary, secondary and tertiary amines. The purpose of NaOH in the reaction is :
Options :
8643515809 O remove basic impurities

8643515830. o activate I’«II—I3 used in the reaction

8643515831 0 increase the reactivity of alkyl halide

8643515832, 0 remove acidic impurities

Question Number : 48 Question Id : 8643511938 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@flenemrs, milenemry WHMWL ppellenewT Bbemsamer FWMH Felld, Bens e
anmene(H&ar =bGmeafilureear eleneruhddl Smn@ NaOH -eyLerm eflenemi(hids -
LH&mal. @eiaiamenuie NaOH -eim L@ eTermUg)

Options :

. o
GITIT LD Tdrdh Sal) ol bdada

8643515829.

el enastullcd NH, -anau SHTeuTL
8643515830. : :

ojenger anrene(haaflen allenensdlmener o Wi
8643515831. i &

8643515832. ofler wrEsEsmear bés

Question Number : 49 Question Id : 8643511939 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following polymer is used in the manufacture of wood laminates ?
Options :

3643515833, Melamine formaldehyde resin



3643515834 Urea formaldehyde resin

8643515835, Cis-poly isoprene

8643515836, Phenol and formaldehyde resin

Question Number : 49 Question Id : 8643511939 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Epssam. uaulg GCejwrisafla gy wrliumamsasamer gl Lwearubhdng ?
Options :

e blem-unjordrenan(h ClHen

8643515833.

wflwm-unjworanaan(h (9 Ham
8643515834, — BLELo oD

Flev-umedl e Gamllflem
8643515835. i

Serrmed oD unjwragaman(h D&e
8643515836. :

Question Number : 50 Question Id : 8643511940 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The secondary structure of protein is stabilised by :
Options :

g643515837 van der Waals forces

g643515838. 1 eptide bond

2643515839, [iydrogen bonding

2643515840, Slycosidic bond

Question Number : 50 Question Id : 8643511940 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Ursmaatlen @rewLmd Blene epwleny Blenalu(bsgieug

Options :
8643515837, GUMTEITLIT eumeven cHlenssen

Guiien_ (B 1YenerTiiLy
8643515838.

enamL_reer SlenemTLiLy
8643515839. ;
8643515840, flenensGCaenenig & enemriiLy

Chemistry Section B

Section Id : 864351130
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351130
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 8643511941 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

When 35 mL of 0.15 M lead nitrate solution is mixed with 20 mL of 0.12 M chromic sulphate

solution, __ %10~ 2 moles of lead sulphate precipitate out. (Round off to the Nearest

Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



Question Number : 51 Question Id : 8643511941 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

35 18l.6dl 0.15 CGuore Hevl enpl Gl sanrygenes 20 10.abl 0.12 Core @& Crmbdlé ga. -Gl

2 2 ERC i R g o ik
senre@lel Swd&sUubbn Glumupsg _x107° Gwred el FaoGuLL
eipliLgeundlmg. (eflen 2wl o drer (pp ecremrenfled)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643511942 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Ga (atomic mass 70 u) crystallizes in a hexagonal close packed structure. The total number
of voids in 0.581 g of Ga is %x10%'. (Round off to the Nearest Integer).

[Given : N, =6.023 x 10%]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643511942 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Ga (ojan erewr 70 u) SmEGsrem CpmaEl Curdbs enwlla UgswrEng.

. . - . . ey e . ’ . =
0581 &l. Ga -& o drar GQeunhdLriasaller orem enildens s )l

(eflen  yméled o drer (pp erawrentle)
(@)@ : N =6.023 x10%]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



Question Number : 53 Question Id : 8643511943 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The number of orbitals with n=5, m= +2is . (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643511943 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

n=5m= +2 -afléd 2 arer < 9L revaeflen eremrenflseans
o grem (ip(p eramranfled)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 54 Question Id : 8643511944 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

. (eflen L ymdled

At 25°C, 50 g of iron reacts with HCI to form FeC 12. The evolved hydrogen gas expands

against a constant pressure of 1T bar. The work done h}-‘ the gas durf_ng this expansion is

I |
(Round off to the Nearest Integer).

[Given : R=8.314 ] mol ! K~!. Assume, hydrogen is an ideal gas]

[Atomic mass of Fe is 55.85 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



Question Number : 54 Question Id : 8643511944 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

25°C Geutiubleneoullien, 50 &gmbd @ mby HCl -ayLai eflenaru’ (h FeCl, -encugd s(mEDE.

GQeueflCumid enaml geermmeng 1 UMy erey WMOT 2APS5555a0 alfleuen_Elma.
o ant 3 gl Y LMD 555 s

aflfleuenL b Gumupg eumyeuned Galwlupin Cauameaulder iare] ].

(eflenL ymEled o cmer (L eTemrantled)

(@i :R=8314] sy¥eb/ CGomed [ Clgevailem, enam L reein eumiL 6 ( bededl el eumyens

s(hsa|b) (@mblen amblenn Fe : 55.85 u)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 8643511945 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

At 363 K, the vapour pressure of A is 21 kPa and that of B is 18 kPa. One mole of A and
2 moles of B are mixed. Assuming that this solution is ideal, the vapour pressure of the
mixture is kPa. (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 8643511945 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

363 K -éb A -er 6l 2i(pH5D 21 kPa wmHmib B - =}, 6l 2S5 18 kPa. @ik
@@ Gumd A -eyb @@ Gurasesr B -eyb sessliuhdng. sanjsd Heedlweay
& G [T &FED T &{lgﬁ@nrn@. CuhaarrL seveneuulen .__‘;JL__bfeﬂ %@{&jg)mnam@ kPa
(eflenL oiym&led o cmer (L eTemtamtled)

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 8643511946 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Sulphurous acid (H,S0;) has Ka;=1.7x10"2 and Ka,=64x10"8. The pH of 0.588 M
H,50, is _. (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 8643511946 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Ka;=1.7x10"2 wimb Ka,=64x10"% Ganam .19y e obfleogder (H,S0;).
0.588 Gumer H,S0; -er pH . (eflen ymdlev o arer (p(p eremrentlen)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643511947 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A 5.0 m mol dm ~* aqueous solution of KCI has a conductance of 0.55 mS when measured in
a cell of cell constant 1.3 cm ™ 1.
1

The molar conductivity of this solution is _

mSm? mol !, (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText
Possible Answers :

100

Question Number : 57 Question Id : 8643511947 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
1

Blenmge wmdledl 1.3 cm Clamanr Wensasden eumlens semrdlulinl L e

5.0 W.Cwomréd dm ™2 Gararr KCl -er B7 sengsadlen sLggsisdmen 055 mS. GuonseamL
gsenjaedlen Gmem] &SL&sidbd men mSm? mol ~!. (aflenL =ymdled 2 dren
(p(yp eramranfled)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643511948 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A and B decompose via first order kinetics with half-lives 54.0 min and 18.0 min respectively.
Starting from an equimolar non reactive mixture of A and B, the time taken for the
concentration of A to become 16 times that of B is min. (Round off to the Nearest

Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643511948 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



A wpmid B g dluenel (psaeaamns eflenar Causeilwea ojiglivent e HAangeusnL&lmay.
SiFem en] L sred (peppGw 540 BHWILL wHmb 18.0 HISILD. efleeruLns
FCme A whmd B Garewn(h eflenen Cgmmdlerma A -eumeng B -enwiGume 16
LLEE dLfel Cun Csamaulu{bd sre jearey BlBILD. (eflenL =i(mdled
o arem (p(p eramanfled)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643511949 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

[Ti(H,O)]** absorbs light of wavelength 498 nm during a d —d transition. The octahedral
splitting energy for the above complex is %107 J. (Round off to the Nearest
Integer). h=6.626x10"* Js; c=3x10% ms™!

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643511949 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

d-d ereslgrenr uflorbpsder Gurwwa [Ti(H,0)** 498 nm semaband CararL
@aflenw 2 Plgrsdng. aafler Consar, amemeald Cajwsder erenmpdl L&l
ey <phne e x10-1]. (eflen ymdled o erar (p(p eremrentlan)
h=6.626x10"3*Js; c=3x10% ms~1

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



Question Number : 60 Question Id : 8643511950 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
In Duma’s method of estimation of nitrogen, 0.1840 g of an organic compound gave 30 mL
of nitrogen collected at 287 K and 758 mm of Hg pressure. The percentage composition of

nitrogen in the compound is . (Round off to the Nearest Integer).

[Given : Aqueous tension at 287 K=14 mm of Hg|

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 8643511950 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Horeav (penpuller enplomen ereldl(hsedled, 287 K whmib 758 mm Hg 2554l cd
0.1840 &lgrid &flw Gejwid 30 W.6ll enplrmenears HHSng. Csrwsgdlad o drer
anbLneeilen 5650 . (efllenL =y(mdled o crar (p(p eremTemtled)
(Qaréstiu’ (Herarg : 287 K -é bilwe @peilens K=14 mm Hg)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Mathematics Section A
Section Id : 864351131
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes

Sub-Section Number : 1



Sub-Section Id : 864351131
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 8643511951 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the foot of the perpendicular from point (4, 3, 8) on the line L, : d : | ; 2 _z . hr

I = 0 is (3, 5, 7), then the shortest distance between the line L; and line

B & 2=~[’Ir 4=z Sisequalto:

Options :

S

8643515851

1
8643515852, 2

i
8643515853, V3

5z
8643515854, V3

Question Number : 61 Question Id : 8643511951 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
(4, 3, 8) eremp yarefludedl mBgy L, : g B 5 S

euenquiL’ L Qem@ggdar <ig (3,5, 7) erafled, L, wpmb Ly: X o e O

-slend@E @enLul L BEAn arrsdlen whHlL

Options :

1
8643515851. V6



N||—=.

8643515852.

1
8643515853. V3

2

8643515854, 'O

Question Number : 62 Question Id : 8643511952 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let the lengths of intercepts on x-axis and y-axis made by the circle fer y2 +ax + 2ay + c=0,
(a<0)be .2\."5 and 2\.@ , respectively. Then the shortest distance from origin to a tangent to
this circle which is perpendicular to the line x + 2y =0, is equal to :

Options :
8643515855, V10

8643515856, V11
8643515857, V7

8643515858. Vo

Question Number : 62 Question Id : 8643511952 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

x?+y?+ax+2ay+c=0, (a < 0) erenip el LD x -F& LHMD vy -N&EHEsaTD
o L n&@HL el (Hs sam(seaier Ferbd penmEw 2.3 LD Ml LD 2J5 arens.
S Sl (mBg, x+2y=0 erenp CarlnnE Cem@Essns el LsHnE eerulul L
LasmpHCarignE euamruiul L Gamliiger B&EAm Mo

Options : .

8643515855. V10



8643515856, V11

8643515857. V7

8643515858. Vo

Question Number : 63 Question Id : 8643511953 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A A

r-lai +2j+k) =3

e

Leta=i+2j-3kandb=2i-3j+5k. Ifr xa=b x

"

r,

K
I

and r- 12.;'. [ 5; u-ﬁ;} = — 1, aeR, then the value of « is equal to:

Options :

8643515859. ?

8643515860, 11

8643515861, 19

8643515862. 15

Question Number : 63 Question Id : 8643511953 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

—

4t A e — M .y A
a=1i+2j -3k womw b =2i —3j + 5k erens.

rxﬂ=b><rrr-,:uI2;Ik_=3|_|_~.wﬂ;qu:u
. . 2
— ,«_ A A — S
r-\2i +5j u-k_] =—1,0eR, craflé®d oA ‘r @i W&l ¢
Options :
0

8643515859.

8643515860, 11



8643515861, 19

8643515862. L

Question Number : 64 Question Id : 8643511954 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let f be a real valued function, defined on R—{—1, 1} and given by

|x l| 2
|:f|l| x—1"

f) = 3log,

Then in which of the following intervals, function f(x) is increasing ?

Options :

; i3
8643515863, 77 ) }

1
(=1 U (13, =) - )
8643515864. k. i
1
{—o, 51 i—1}
8643515865.
{(—1 3]
8643515866. <

Question Number : 64 Question Id : 8643511954 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

=13 2

T GoT ) &L IT M)
x 1| xr—1 D J

R—{-1,1} -er 88 f erarpm GQuwosrjy flx)= 3log,

o)

euenTWUmESLUBSDg. SpssaL ahs @enL Gleuaflube f(x) ereirm ML (b sTiUms

P C s ~
@lm&EHWL ?
Options :

; i3
8643515863, 77 ) }



1
(-1 ([2, =)~ 1))
8643515864. ; /
1
( fcrg] i—1
8643515865.
ot el
8643515866.

Question Number : 65 Question Id : 8643511955 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
2 2
x
If the points of intersections of the ellipse E | b_z = 1 and the circle x2 4 y3=4h, b >4 lie

on the curve y*=3x%, then b is equal to :
Options :

8643515867, 2

8643515868. .

8643515869, 10

8643515870, 12

Question Number : 65 Question Id : 8643511955 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
2 I

16 b

=
(=]

|.-

=1 gremm Bereul L pid x2+y?>=4b,b>4 erenmm eul L pd Ceul(Hb yereflsen

=]

2 7 . Y e . . . .o
y=3x" eTalln eueneTeuenTUbled HenLBSHTeD b - mﬂLL :
Options :

8643515867, 2

8643515868. .



8643515869, 10

8643515870, 12

Question Number : 66 Question Id : 8643511956 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let C be the locus of the mirror image of a point on the parabola y?=4x with respect to the
line y=x. Then the equation of tangent to C at P(2, 1) is :

Options :

8643515871, X t3¥=5
Ty —

8643515872, X TY=3

8643515873, X Y=1

. My — ¢
8643515874, X T2 =4

Question Number : 66 Question Id : 8643511956 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
y=x eremrm GamlenL s Qummss y=4x erenrp ureuenemugdlen Waerer yereflulen
samanmg Gbugdear Hlwwiureng C eaeans. P(2, 1) erenm yareflllL 55 C -5

euenuiul L CsmHGsT igerm Foerum(h :

Options :

8643515871, X t3¥=3
2x y=5

8643515872.

8643515873, X Y=1

L,
8643515874, X T2V =4

Question Number : 67 Question Id : 8643511957 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Let A denote the event that a 6-digit integer formed by 0, 1, 2, 3, 4, 5, 6 without repetitions,
be divisible by 3. Then probability of event A is equal to:

Options :

4
8643515875. ¢
3
8643515876. 7
11
8643515877, 27
9
8643515878, 20

Question Number : 67 Question Id : 8643511957 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

0,1,2,3,4,5 6 crain erawmasefled(mhg eeubleunm crammenentyd e Hpenm WL (HGLWD
o = Sarinl s - SR e T P P L S » T = o

vweruBSS, 3 D a@GHULSSIgW 6 - @ass aan Casiey Celwlubin Hlapsd A

oTans. Hlap&d A -enn Hlabsse]

Options :
4
8643515875, ¢
3
8643515876. 7
n
8643515877, 2/
e
8643515878, 0

Question Number : 68 Question Id : 8643511958 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

d .
If y=y(x) is the solution of the differential equation j b (tanx) y=sinx, 0= :ru_% with

. a0
1(0)=0, then 'IJ(I] equal to :

Options :

8643515879.

1
=lop 2
8643515880, 2 ©

log 2
8643515881. Be

1

=4

2 039_2
8643515882.

Question Number : 68 Question Id : 8643511958 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

d .
ayj b (tanx) y=sinx, 0=x= % aTelrD euen&&El& (s Fwemumliger y(0)=0, eTam
-, . ~ - . a . y m . ; .
s uurien Hlenpe| Celuyb Sie| y=y(x) erafla y(ﬂ ~eir Lol ¢
Options :
[l
OBe
\ 2+/2 :
soa3515879, V27

1
2 log, 2
8643515880.

log 2
8643515881. Be

:
ol

2 0g, 2
8643515882.



Question Number : 69 Question Id : 8643511959 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

:cos_l{l {x}z}sin_l{l xp) 0
Let a € R be such that the function f(x)= 4 {x} — {x}° Jutedaadl

loe, r=10

continuous at x=0, where {x}=x—[x], [x] is the greatest integer less than or equal to x.
Then :

Options :

8643515883, =0

8643515884, NO such o exists

= —E
8643515885.

H= | 5

8643515886.

Question Number : 69 Question Id : 8643511959 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
[cos™(1 — fa}?) sin™1(1 — {)
a e R eremugy f(x) = 4 {x} {1}3
| e, x=0

,x 20 . : .
eresrm FMoy x = 0 eremm

-
|

yareflllen Qamgéfluns o ereng erens. @m@E {x}=x—[x], [x] ererugy x -5 el
WlensLiumg WBUGLs (PP GTamT. %LQLHH;Q :

Options :

8643515883, @ =10

9l & a SenL&an
8643515884. T+ 20 S

o= _I.E
8643515885,



W= | g

8643515886.

Question Number : 70 Question Id : 8643511960 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If (x, y, z) be an arbitrary point lying on a plane P which passes through the points (42, 0, 0),

(0,42, 0) and (0, 0, 42), then the value of the expression

12 x+y+z

]

1 I y—19

3 4
(y-19)" z-12)°  (x-11)* (z-12)* (x-11)* (y-19)° 14(x—11) (y-19) (z-12)

is equal to :
Options :
8643515887,

8643515888, 7

8643515889. 0

8643515890,

Question Number : 70 Question Id : 8643511960 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
¢

42.0,0), (0,42, 0) wHmw (0, 0, 42) erevm yeaTetl subléd Gayd semd P - (x, v, z
mm D L QD & Iy

GTETLG eFHMeudl eh UeTefl erefle :

',“ x—11 I y—19 I =12 x+y+z o
S W19 2-12% (x-11)% (z-12)® (@x-11)* (y-19)> 14(x-11) (y—19) (z-12)
&y

Options :

8643515887. 45



8643515888, 27

8643515889. 0

8643515890,

Question Number : 71 Question Id : 8643511961 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let A={2, 3, 4, 5, ..., 30} and ‘=" be an equivalence relation on A x A, defined by
(a, b) = (c, d), if and only if ad=bc. Then the number of ordered pairs which satisfy this

equivalence relation with ordered pair (4, 3) is equal to :

Options :

8643515891.

=}

8643515892.

|

8643515893.

oo

8643515894.

Question Number : 71 Question Id : 8643511961 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A={2,3,4,5, .., 30} eenis. ‘=" eramuig (a, b) = (c, d) eTemmeumm GUEMTWMIESE
Cosameuwnangb Gungywrargwrear Blubsenear ad=bc eremmeurm AxA -&
euengwlinl L gomer Gsrojumr@n. (4, 3) -eyLen Foner GsrjusnLw euflens
P+ _r" B _u 2 & o T [ s

Gemgsaflen eremenfléengullen iy :

Options :

8643515891. 5
3]
8643515892.
7

8643515893.



8643515894. B

Question Number : 72 Question Id : 8643511962 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

4l
Let P(x)=x>+ bx +c be a quadratic polynomial with real coefficients such that L}P{l'} dv =1

and P(x) leaves remainder 5 when it is divided by (x—2). Then the value of 9(b +c) is equal

to:

Options :

8643515895.

8643515896, 7

8643515897. o

15
8643515898.

Question Number : 72 Question Id : 8643511962 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Qi Gspassamar Qaram P(x)=x2+bx +c eremm @ U sSsner LaamULsEGsnme
I N . . . . e oo p .
[}P(l} dx=1 womwb Px) -8 (x-2) -y u@GsGL Qumg B8 5 HenL&@wmm

ga:ﬂ'b'f"@_ %le-:lL”f\:I:}Q g{h | C] —Ib;:ll LD{l‘I-'_I:)‘Il;l— ;

Options :

8643515895.

8643515896, 7

8643515897. =

15
8643515898.



Question Number : 73 Question Id : 8643511963 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider a rectangle ABCD having 5, 7, 6, 9 points in the interior of the line segments
AB, CD, BC, DA respectively. Let « be the number of triangles having these points from

different sides as vertices and f§ be the number of quadrilaterals having these points from

different sides as vertices. Then (3 — «) is equal to :
Options :
8643515899, 1173

8643515900, 1890

8643515901, 7 17

8643515902, /22

Question Number : 73 Question Id : 8643511963 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ABCD sremug e Geaueusid. AB, CD, BC, DA eramn CriCaml(hé gent(hseflen
o grGer (wenmGw 5,7, 6, 9 udraflaer o drang. a erenug deaucuCeum L&EERISMETSE
Carar, @bHs yerallsmer penerliy yearefllserns o erer (pdsGEsment msafl e
cramenflsamsan s @ol&dng. B eaug daaCGam vssmsamerd CHsmaml @65
ueraflaener (peners Udtaflgernas o drer prosrhseailen eramanfléamnsaw @hlsdng.
SUEumpg (B—a) -6 wSL ¢

Options :

8643515899, 1173

8643515900, 1890
8643515901, /17

8643515902, /02

Question Number : 74 Question Id : 8643511964 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Consider the integral

1 el
_ Ll{][lle 1

] D.‘L‘l r

where [x] denotes the greatest integer less than or equal to x. Then the value of I is equal

to:
Options :

45 (e +1)
8643515903.

. F1
8643515904, © &+ 1)

45 (e 1)
8643515905

9 (e—1)
8643515906

Question Number : 74 Question Id : 8643511964 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
[— [l el*]

= e dr eremm euansllLener eT(NSHE CamarGeumb. @@ [x] openg x -m

efl WlensLiuLng WOUGLIGE p(perent I -ei iy
Options :

8643515003, = €+ 1)

9 (et+1)
8643515904,

45 (e 1)
8643515905

8643515906, © & D

Question Number : 75 Question Id : 8643511965 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let A(—1, 1), B(3, 4) and C(2, 0) be given three points. A line y=mx, m>0, intersects lines
AC and BC at point P and Q respectively. Let A; and A, be the areas of AABC and APQC
respectively, such that A; =3A,, then the value of m is equal to :

Options :

8643515907, 1
4

8643515908, 12

8643515909. 2

8643515910,

Question Number : 75 Question Id : 8643511965 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A(-1,1), B(3, 4) womd C2,0) srerruan GQasrhdsiiul(hearer eperm Udraflser y=mx,
m>0 eranip Ga&m(H AC, BC eenp Gan(hsener wennGw P, Q eranm ydraflsafle
Qeul (Hdmg. Ay A, ererug AABC whmib APQC -sefler Lpliy A, =3A, erammeum
o @Teng erefléd m -ei WAL
Options :
8643515907. 1

o
8643515908, 19

8643515909. 2

8643515910, °

Question Number : 76 Question Id : 8643511966 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The least value of |z| where z is complex number which satisfies the inequality

(2] +3) (]z| = 1)
Iz| + 1]

'
loge 2| = log ;5 [5v7 + 9il, i = V-1, is equal to :
J

Options :

3

8643515911.
8643515912.

8643515913.

8643515914, B

Question Number : 76 Question Id : 8643511966 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

.f

(lz| +3) (lz| = 1)
Izl + 1]

b
log, 2| = 1“8\5 |5J?_ | 9{'|, i = -1 GTENMN <D FLOGHT LML 6L
J

Blenpey Qayb selCuer z ereafle |z| -er B&fm wdliy :
Options :

”
8643515911.

5
8643515912, V

8643515913. 3

8643515914, 8

Question Number : 77 Question Id : 8643511967 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

sinzx 1+ cos

The maximum value of f(x)= |14 sin?x  cos’x  cos2x|,xeRis:

2y cos2x

it 2 2 . 3
sin"x cos“x sim 2X



Options :

8643515915.

(11

8643515916.

N

8643515917.

3
8643515918, 4

Question Number : 77 Question Id : 8643511967 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2

. _ 2
sin"x 1 + cos

x CO0S 2y

A 2 E E h ; . . ~ oo o h .-
flx)=[1+sin“x  cos“x cos2x|,x e R eranm arjlen BLGEL@ LI :

2y cos2x sin 2

sin

Options :
"=

8643515915, V°

8643515916. 5

8643515917. V7

|
8643515918, 4

Question Number : 78 Question Id : 8643511968 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given that the inverse trigonometric functions take principal values only. Then, the number

i . . =1 3x S | 4x =1 .
of real values of x which satisfy sin E | I sin ? | =sin X is equal to :
. b )

Options :
8643515919, U



8643515920.

2
8643515921.

8643515922, 2

Question Number : 78 Question Id : 8643511968 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Griwrm wa&sGsreamellwea srjuser (pseamenn wEHUeamu LWL (AL U@L eTerm

E o i gt A | 3x | dx i | ) : i :
Cla&mhids ol (hererg. sin = b sin s =sin "X eraTm FwerUmenl Klenmay
\ s \ )

EEUwn Gl eTemr x -6 eTaRTenl&ens
Options :
8643515919, U

8643515920.

2
8643515921.

8643515922, 2

Question Number : 79 Question Id : 8643511969 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let f: S — S where 5= (0, =) be a twice differentiable function such that f(x + 1) =xf(x). If
¢ :5 — R be defined as g(x) =log, f(x), then the value of |g"(5) — ¢"(1) is equal to :

Options :
205
8643515923, 144

197
8643515924, 144



187
8643515925, 144

8643515926, 1

Question Number : 79 Question Id : 8643511969 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
S=(0, ®)f:S = Sererm &1y f(x+1)=xf(x) eTemmeumm < eTarT @) (HLPEND

auansWilL 55555 g: S — R ereug) gx)=log, f(x) ereimm euenyum&sLL LTe,

g'(5)—g"(1)| - wAHOIL
Options :
205
8643515923, 144

197
8643515924, 144

187
8643515925, 144

8643515926, 1

Question Number : 80 Question Id : 8643511970 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let C, be the curve obtained by the solution of differential equation 2xy i—y = yz 22, x>0,
. 5o T ﬂ

Let the curve Cz be the solution of 5
X -y

. If both the curves pass through (1, 1), then

the area enclosed b"i, the curves C 1 and C?_ is equal to :

Options :

4:..|:1'

8643515927.



8643515928, T 1

05
8643515929, 2

8643515930, T 11

Question Number : 80 Question Id : 8643511970 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2xy af =y2 x%, x>0 eremm cuan&& s (WéE swetum igen Siay C; eramm euenaTelen(
2xy dy . B¢ . e P NG SRR At .
L_ =L -an §fa C, erentm cuenateueny @ren(h euenereuenfasignd (1, 1) eremm
= yz :
yerafl eufléblgemmmey C; whmib C, euenareusnysar o ararL sdl L@dlulen LiyliSen
iy
Options :
Z+1
8643515927. °
8643515928, T 1
Z -1
8643515929, 2
8643515930, T T 1
Mathematics Section B
Section Id : 864351132
Section Number : 6
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10

Number of Questions to be attempted : 5



Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351132
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 8643511971 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

For real numbers «, (3, v and &, if

2

(x2-1) 4 ’r,an_l[:L l 11
J

X
lelw
g

X

".

d__l.

[xq'l 3x2 1} ta_n_l[

. % 1 .
e T | s e | -
= a Ingﬂ[tan g [ HI[& tan I[MWI o tan
\ v X ) b X 4

._.
A
=
[ =]
s
-
5|

where C is an arbitrary constant, then the value of 10(« + 3y + &) is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 81 Question Id : 8643511971 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



o, B, y LHMD & ereruear GwUCwemsearts ©gmew(h

i
(x2-1) 1 t.?m_l[}L IIW

2
[_x4l 32 4 1_] 'L*a_t'l_l[:1 l 11
/

| 2 4 2
= o Eoge[tmfl [1 l Iﬂ P tan”! {uL 'éitarl_I[}L | 1} FC erefled (@@ C
J J

. X J X A X

eremgl e wmbledl) 10(a+ By +8) -6 wdlly

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 8643511972 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
In AABC, the lengths of sides AC and AB are 12 cm and 5 cm, respectively. If the area of
AABC is 30 cm? and R and r are respectively the radii of circumcircle and incircle of AABC,
then the value of 2R +r (in cm) is equal to

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 82 Question Id : 8643511972 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

AABC -em uGasmgser AC, AB -seflen hermisear (penpGu 12 em wHmih 5 cm @b
AABC -eér ugly 30 cm? whmbd R, r eremuer AABC -af s&hmel L whHmib
o areul L museflen gprmiger erefled 2R+r1 (cm -6) ) -am W&l

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 8643511973 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If the distance of the point (1, — 2, 3) from the plane x+ 2y — 3z + 10=0 measured parallel to

3 m 1

] 2-y z+3

the line,

7
is gt then the value of /m| is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 8643511973 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

x~1 Z—y w+3 e ume sy | o |
3 B ereirm GCamligmE Qeewrwns (1, —2,3) eremp ematlulledlmbs
. m - .

—
: : 7
x+2y—3z+10=0 erenrm SenHHMH& cuenFuLILIL L CSHTLLg6ll < ETey "ull; erentled |m| -em

—~

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643511974 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



oy . — M A — M A Al
Let ¢ be a vector perpendicular to the vectors a = i + j ~kand b=i +2j + k. If
s '1_: t j +3k) =8 then the value of ¢ - 'a X b/ is equal to
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 84 Question Id : 8643511974 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

— M F. M,

A — / P S ) ) . . - . . ” . .
a=1i+j—k oomb b=i+2j+k oTanm Ceu&LT&EH&6E LFhEssnear GHaidL]

- [ A A

E} Dp(&HWD. ¢ {; = X 31&} =8 arafled ¢ ‘a X b.] -6t Lodl iy

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643511975 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Letf: R — Rand g: R — R be defined as

Fx) [x+a, x<0 \ J x+1 x<0
X)) = « o —
Ix—=1, x=0 | (x 1}2|b, x=0

L8

where a, b are non-negative real numbers. If (gof) (x) is continuous for all x ¢ R, thena +b is
equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText



Possible Answers :

100

Question Number : 85 Question Id : 8643511975 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

f:R— Rwomw g: R — R eremuen

. ix|ar xr<0 cigiog J x+1, x<0
) = WMmmL ¢(x) =
S = -1 0 1P 8E) = 1 _1p4b, 230

x )

Lt

eremmeunm euenqumssiul (Hererg). @M@ a, b eramuen @Genn wHUbwens ol
eremaer. (gof) (x) erenmug x e R -é o amer erévenm x -l gab Egrjgedlwner Fmiu
erefled a+b -ar oLy

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 8643511976 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Consider the statistics of two sels of observations as follows :

Size Mean Variance
Observation 1 10 2 2
Observation 11 n 3 1

7
If the variance of the combined set of these two observations is 9 then the value of n is
equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



Question Number : 86 Question Id : 8643511976 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

@ran( sard udeyseflen yarefl efleurdsear Gy GCanpBastiu’ (Herarg

lara) errefl  dlaossaiss symelfl

el udla] I 10 2 2

sewr il udley 11 n 3 1

@65 @ s udleysaflen gl Lnen elledseuiss &IJI]&IjI].E erantled n e L&l
— W — g

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643511977 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Letnt itive int Ltﬁa—zn:{ 1)* n [(qkl (Wkl(ﬁﬁl (15%@' (Zﬂwk]
¢l n be a posilive mieger. et f = e — — Pl it
p g k=0 . Ck \2«"' 4 o) 16 '\.J‘j/l

If 63A=1 then n is equal to

1
T-_m ’
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 87 Question Id : 8643511977 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



n eTelllg) @ Wlens (Lp(Lp GTERT 66l &.
| \k kK ponk  pqenk k
: 1 3 7 15 31
A= D% n [(— I (—w I (—W I (— I (—\ ] GT Gl &.
Z{ . Ck \EJ w4 8 g ] 32)

63A =1 ﬁ%mm?@b n - Loy
Response Type : Numeric
Evaluation Required For SA : Yes
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a b
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Let 11_6 a and b be in G.P. and 1 , 6 bein A.P., wherea, b> 0. Then 72(a + b) is equal to
a

=
b
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Let
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Snh(x) lr.;‘,aI?J. I lL},a}ﬁl I lt}ra}ﬁl I lr.;,a},uj. I lt}ra},ml I lt}ra}??l I up to n-terms

where a > 1. If 5,,(x) =1093 and S,(2x) =265, then value of a is equal to
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